/DVIRB

*UXSD 5R]N&DG $"0/

& 7\J

7\J
4
T
s .37 2 NHUIXQNRZ\  GU
= 9%LHG BURNRV] 3DXIQD =%
% $"0/ -
3 2GG]IDINZDQUH LQVINIXFIL
x SUDZQ\FK Uy TQ\FK JDiC]L
) SUDZD QD DGPLQIVIUDFIC
SXENF]Qa
7N 7N\ 7N\ 7N 7N
3UTHGPLRI GR Z\ERUX ] 3UTHGPIRI GR Z\ERUX ]
$GPIQVILDF\IQRSUDZQ\ 6HPLQDUXP G\SIRPRZH 3UDFD ELXUIRZD Z JDNUHVX QDXN JDNUHVX QDXN
VIDIXV RVYE IJ\F]Q\FK GUKDE SURI 8-~ = RIQIFN| DGPIQIVIIDFIL =  GU KDE KXPDQIVINFJQ\FK SURI KXPDQIVINFJQ\FK SURI
= Z GUTHIDVNR 3DZHi =% $70 SURI 8-~ = RIQIFNL 3DZHi ZyIFIN ZIHViDZ =% ZyIFIN zHViDZ =%
z ODNRZVND (ZHIQD =% /= =% $0/ $"0/ = $"0/ =
x $°0/7 = 3 - (IRV VAXTE\ SXENF]QHI D =DJDGQHQH
N ™ 1DZRG\ IDXIDQD VSUDZIHGILZRGFL QD WH
VSRiHFJQHIR 7\G]IHE ZDUIRGFL VSRIHF]Q\FK
6HPLQDUXP G\SIRPRZH JDICFD  PIQXI 7\G]IHE ]DICIFD
GU GRANVIDN 3DIVFID =% PLQXI
.20387(52:%
$"0/ -
7N 7N
o )IQDQVH SXEIF]QH L SUDZA , 3" = NHUXQNRZ\ 7R
8 ILQDQVRZH = SIRI ]Z PDVIHZIF] ODUFIQ GU =%
= GU KDE *0XPLEVND 3DZ0F $"0/ =
;’,GZSD =% GSRIHF]QH QDXF]DQUH
o = NRGFLRID
7\J
> 7\J
S
= $GPIQVIDFVIQRSUIDZQ\ 3UDFD EXIRZD Z
ﬁ VIDIXV RVYE I]\F]Q\FK DGPLQLY\'»UDF!)L uz PJ
Al iZ aD]XIND *DZCGD 3DELG aXNDV] =%
L 3DXIQD GU =% $"0/ &
$"0/ &
7N 7N 7N 7N\
z $GPLQIVIUDF\IQH SUDZR $GPIQVILDF\IQH SUDZR )IQDQVH SXEIF]QH L SUDZA GHPIQDUXP G\SIRPRZH
< JRVSRGDUFJH = GU JRVSRGDUF]H iiZ Gl IIQDQVRZH FZ~ 6]HFyZN GU -DVLEVND -XVINQD =%
Q = RIINRZIDN $QQD =% = RIINRZIDN $QQD =% D 3DZHi =% $"0/ =
n $'o_/ : $'0/_ & $"0/ & _ U JDICFD IDN
U GURGD U GURGD U JDICFLD IDN Z SlglHN
JDICFLD IDN Z SlalHN DICID IDN ZSlaiHN Z SlglHN
@
©




